	Directions: In the following sentence four words or phrases have been underlinedand marked A, B, C and D. Only one underlined part in the sentence is not acceptable in standard English. Pick the underlined part which contains an error.
(A) While pursuing the Presidency, (B) many candidates (C) that are affected (D) by serious invasions of their
personal life.
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	Directions: In the following sentence four words or phrases have been underlinedand marked A, B, C and D. Only one underlined part in the sentence is not acceptable in standard English. Pick the underlined part which contains an error.
Before (A) running for President, (B) Bill Clinton (C) to run for governor (D) of Arkansas.
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	Directions: In the following sentence three words or phrases have been underlined and marked A, B and C. Only one underlined part in the sentence is not acceptable in standard English. If the sentence has no error select D as your answer.
(A) The programme which (B) came on television (C) these days in the evenings is very interesting.(D) No error
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	Directions: In the following sentence three words or phrases have been underlined and marked A, B and C. Only one underlined part in the sentence is not acceptable in standard English. If the sentence has no error select D as your answer.
(A) Prakash was leading (B) a happy and leisurely (C) life after his retirement from service. (D) No error
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	Directions: In the following sentence four words or phrases have been underlined and marked A, B, C and D. Only one underlined part in the sentence is not acceptable in standard English. Pick the underlined part which contains an error.
We see lightning before we hear the thunder, (A) it causes because (B) sound travels more (C) slowly than (D) light.
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	Directions: In the following sentence three words or phrases have been underlined and marked A, B and C. Only one underlined part in the sentence is not acceptable in standard English. If the sentence has no error select D as your answer.
(A) He told me that he couldn’t buy (B) the paintings which he wants (C) very much because he didn’t have enough money. (D) No error 
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	Directions: In the following sentence three words or phrases have been underlined and marked A, B and C. Only one underlined part in the sentence is not acceptable in standard English. Select that word or phrase and mark it as your answer. If the sentence has no error select D as your answer.
(A) No sooner does the teacher (B) enter the class (C) then the students stand up. (D) No error  
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	Directions: In the following sentence three words or phrases have been underlined and marked A, B and C. Only one underlined part in the sentence is not acceptable in standard English. If the sentence has no error select D as your answer.
(A) The lawyer told his client (B) that he would represent him (C) only if he pays up his fee. (D) No error
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	Directions: In the following sentence three words or phrases have been underlined and marked A, B and C. Only one underlined part in the sentence is not acceptable in standard English. If the sentence has no error select D as your answer.
(A) This watch is (B) more superior and (C) more expensive than that. (D) No error
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	Directions: In the following sentence three words or phrases have been underlined and marked A, B and C. Only one underlined part in the sentence is not acceptable in standard English. If the sentence has no error select D as your answer.
(A) Supposing if you (B) are arrested (C) what will you do? (D) No error
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